
^A xi_B = (x,y,th)
R = [cos(th)    -sin(th);    sin(th)     cos(th)]
Example   ^A p  =  ^A R_B  *  ^B p
R  \ in  SO(2) = Special Orthogonal Group :   (-)R = R'   and   det ( R ) = +1
Also note that     R(-th)   =   (-)R(th)    so rotation ccw is the inverse of rotation cw

Col (row) orthogonality ==> one constraint
Col (row) normality ==> two constraints
Therefore only 1 dof, so only one parameter is needed

Why only one parameter, th?   4 elements in a 2x2 matrix  

Accounting for translation - eqs.(2.7 - 2.10)
Define SE(2) with elements known as homogeneous transformations
Notation   xi(x,y,th)  ~  htform
Orange box.  Give result of composition and inverse.

Introduce matlab toolbox function,     se2(x,y,th)
Matlab example in fig 2.8
Introduce e2h (euclidean to homogeneous) and h2e
Introduce homtrans
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